| Efficiency vs Dxy |

> 0.1¢

< F : : : : : : : : :
o - . . . . . . . . .
L
< - T T S S R R R
0 HRGAas AEES SUICE MY SE S
K S S S S N S S N
D07
T N S AR S N T A S A
e * """" T
0 A
004_ ...... b b
O3
OZF -
OYCE 0 R N 1 S W

E by

OJ--\-QrIIII.IIII.””.””!I

Rati

09 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_baseline_6iter

| Efficiency vs Dz |

—— DQM_mkFit_TT_RetrainV2_WP1_6iter

0.05
© H H H H H
B045E -t S S T
o) : : : : :
O T I
O H H H | 4 .
G035 i o 1 I SR
o : : : : :
i R 115 SN SRR 111 e
0.025F -t 4o e L

oi‘izgjjjjjjjj;:;“ Mmj"":

0.01F----H2p-1H

0008l

2030
TP dz (cm)

|
Wi
o



	Contents
	Page 1


